## Sanction Register for Scholarship

**Government of Chhattisgarh** 



Government of Chhattisgarh State : Scholarship Scheme : Post Matric ST Scholarship Sanction Number : R/7/1539/2/7/81743 Category : ST Sanction Date : 23/01/2018 Institute Name : Govt. Girls College Dantewada Applications Type : Renewal Academic Year : 2017 - 18

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	<b>Tuition Fee</b>	Other Fee	Total Fee	Total Amount
CTRONG SA STORES	at the state of the state of the	No. Contraction		Deneuval	10	300	3000	0	1502	1502	4502
1396692	SANDHYA NAG	Female	B. Sc./Science/II	Renewal	10	300		0	1502	1502	4502
1378574	RUPA POYAM	Female	B. Sc./Science/II	Renewal		300			1502	1502	4502
1402588	DEEPIKA POYA	Female	B. Sc./Science/II	Renewal	10	570			1502	1502	7202
	DEEPIKA MANDAVI	Female	B. Sc./Science/II	Renewal	10					1502	7202
,	KUSHMA ATRAM	Female	B. Sc./Science/II	Renewal	10	570				1502	
	JAMUNA PODIYAM	Female	B. Sc./Science/II	Renewal	10	570				1502	
		Female	B. Sc./Science/II	Renewal	10	300				1502	
	kalpana midiyami	Female	B. Sc./Science/II	Renewal	9	300	2700			1502	
	PERE SARASWATI	Female	B. Sc./Science/II	Renewal	10	300	3000	0 0			
	JIPTI GAWDE		B. Sc./Science/III	Renewal	10	570	5700	0 0	1502	1502	
958168	PUNEM SOME	Female		Renewal	10	300	3000	) (	1502		
1401565	RENUKA THAKUR	Female	B. Sc./Science/III	Renewal	10	570	5700	) (	1502	150	
1373671	SAVITA TELAM	Female	B. Sc./Science/III		10	570	5700	) (	1502	150	2 7202
610796	SHASHI TELAM	Female	B. Sc./Science/III	Renewal	10	300	3000	) (	1487	148	7 4487
1 1372236	MADHURI MARKAM	Female	B. A./Arts/III	Renewal		300			1487	148	448
	PREETI BHUARYA	Female	B. A./Arts/III	Renewal	10				) 1487	148	448
	LALITA NAG	Female	B. A./Arts/III	Renewal	10	300			1487	148	448
/	SUKMATI KUNJAM	Female	B. A./Arts/III	Renewal	10	300	3000				

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts candidate have been kept safely in the onice and will be subject to verification of control of scholarship/stipend from the period it is detected. any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : DANTEWADA Date : 08 02 20 18

(Signature & Seal of Head of the Institution) शासकीय महेन्स्र amei (capitaliteles) उट्ट SURENDRA KUMAR SAHU ४ दन्तेवाड़ा (दक्षिण बस्तर) छ.ग.

This Sanction is generated by Scholarship Portal. Printed on 2/5/2018

# tion Register for Scholarship

mment of Chhattisgarh



Scholarship Scheme :	Post Matric ST Scholarship	State :	Government of Chhattisgarh
Category :	ST	Sanction Number :	R/7/1539/2/7/81743
Institute Name :	Govt. Girls College Dantewada	Sanction Date :	23/01/2018
Academic Year :	2017 - 18	Applications Type :	Renewal
			Total Amount

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1442050	BHAGWATI KASHYAP	Female	B. A./Arts/III	Renewal	10	300	3000	0	1462	1462	4462
	RANJITA HAPKA	Female	B. A./Arts/III	Renewal	10	300	3000	0	1462	1462	4462
		Female	B. A./Arts/III	Renewal	10	570	5700	0	1487	1487	7187
	reetu bhavani		B. A./Arts/III	Renewal	10	570	5700	0 0	1487	1487	7187
	Kumari Esha Nag	Female		Renewal	9	570	5130	) (	1487	1487	6617
	SUNITA NO SURNAME	Female	B. A./Arts/III	Renewal	10	570	5700	) (	1487	1487	7187
1217126	MANE SHWARI	Female	B. A./Arts/III	Renewal	10	570		) (	1487	1487	7187
528070	Sangita Barse	Female	B. A./Arts/III		10	570		0	0 1487	148	7 7187
712938	manjula kadati	Female	B. A./Arts/III	Renewal	10	300		0	0 1487	148	7 4487
836877	SHASHIKALA NOSURNAME	Female	B. A./Arts/II	Renewal	10				0 1487	148	7 7187
	SANGEETA NAG	Female	B. A./Arts/II	Renewal					0 1487	148	7 448
	SONIYA NO SURNAME	Female	B. A./Arts/II	Renewal	10				0 1487	148	7 718
	PRAMILA TELAM	Female	B. A./Arts/II	Renewal	10				0 1462	146	716
	JAYANTI NO SURNAME	Female	B. A./Arts/II	Renewal	10				0 1487	148	718
	2 Sarojni Sodi	Female	B. A./Arts/II	Renewal	10				0 1487		37 718
	6 SANDHYA SARIYAM	Female	B. A./Arts/II	Renewal	10				0 1487		37 718
	4 LALITA RAWTE	Female	B. A./Arts/II	Renewal	10	57 Total			0 49191		

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period in s detected. (Signature & Seal of Heatt of the Institution)

Place : DANTEWADA Date : 08 02 20 18

Name (Capital Leters) SHRT SURENDRA KUMAR SAHU

This Sanction is generated by Scholarship Portal. Printed on 2/5/2018



### ion Register for Scholarship

ment of Chhattisgarh

Government of Chhattisgarh State : Scholarship Scheme : Post Matric ST Scholarship R/7/1539/2/7/82107 Sanction Number : Category : ST 02/02/2018 Sanction Date : Institute Name : Govt. Girls College Dantewada Applications Type : Renewal Academic Year: 2017 - 18

Арр	plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
						10	570	ingening the second	0	1487	1487	7187
1	540738	SUNITA URSA	Female	B. A./Arts/III	Renewal	10				1462	1462	7162
	637863	SUDHA WACHAM	Female	B. A./Arts/II	Renewal	10	570	5700	U	1402		
5				B. A./Arts/II	Renewal	10	300	3000	0	1487	1487	4487
6	1040940	ANJANA NO SURNAME	Female			10	570	5700	0	1462	1462	7162
F	1458587	MAMEELA OYAMI	Female	B. A./Arts/II	Renewal	10				1407	1487	4187
	1056657	SUNITA NO SURNAME	Female	B. A./Arts/II	Renewal	9	300	2700	) (	) 1487		
				B. A./Arts/II	Renewal	9	300	2700	0 0	1455	1455	5 4155
1	1458874	SAYTO MARKAM	Female			10	30	300	0	0 1487	1487	7 4487
0	666454	Shalini Salvam	Female	B. A./Arts/II	Renewal	10				1463	146	716
	1026402	VANJAM LAXMI	Female	B. A./Arts/II	Renewal	10	57	0 570	0	0 1462	140.	
	1026483		· criticite				Total	: 3420	00	0 11789	1178	9 4598

### **Declaration**:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. ....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

NIC

Page 1/1

This Sanction is generated by Scholarship Portal. Printed on 2/5/2018

(तभिता बज्जार) म त

(Signature & Seal of Head of the Institution)

Name (Capital Leters) : CHRI SURENDRA KUMAR SAHU

### on Register for Scholarship

nent of Chhattisgarh

द्रन्तेवाडा (दक्षिण बस्तर) छ.ग.

This Sanction is generated by Scholarship Portal. Printed on 2/5/2018

State : Government of Chhattisgarh Scholarship Scheme : Post Matric ST Scholarship Sanction Number : N/7/1539/2/7/81484 Category : ST Sanction Date : 23/01/2018 Institute Name : Govt. Girls College Dantewada Applications Type : Fresh Academic Year: 2017 - 18 in Feel Othor Feel Total Feel Total Amount

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other ree	Total ree	
		and and a management	- Contraction of the second second	E al	10	300	3000	0	1552	1552	4552
1354877 SH	HEETAL KARMA	Female	B. Sc./Science/I	Fresh		300		0	1552	1552	4552
1400629 R	EENA KASWASI	Female	B. Sc./Science/I	Fresh	10				1552	1552	4552
	AVITRI NETAM	Female	B. Sc./Science/I	Fresh	10	300				1552	7252
	ASHODA BELSARIYA	Female	B. Sc./Science/I	Fresh	10	570				1552	7252
		Female	B. Sc./Science/I	Fresh	10	570				1552	
	ANISHA KATTAM	Female	B. Sc./Science/I	Fresh	10	570	5700			1552	
1355386 LA			B. Sc./Science/I	Fresh	10	570	5700				
1349386 LA	XMI KAKEM	Female		Fresh	10	570	5700	) 0		1552	
1363398 SA	AVITRI TELAMI	Female	B. Sc./Science/I	Fresh	10	570	570	0 0	1552	1552	
1361296 PL	JJA MADAKAM	Female	B. Sc./Science/I		10	570	570	0 (	1552	1552	and a second
	HARTI KARMA	Female	B. Sc./Science/I	Fresh	10	57	570	0 0	1552	1552	
1363213 D	COMPANY AND	Female	B. Sc./Science/I	Fresh		57		0 0	1552	155	2 725
	ULASI KASHYAP	Female	B. Sc./Science/I	Fresh	10	57		0	0 1552	155	2 725
		Female	B. Sc./Science/I	Fresh	10				0 1552	155	2 725
	EETA KARTAMI	Female	B. Sc./Science/I	Fresh	10	57			0 1552	155	2 725
	UMAN MANDAVI	Female	B. Sc./Science/I	Fresh	10	57		•			2 725
1355146 N	ILLISHA SALAM		B. Sc./Science/I	Fresh	10	57		•			
	MEENA SORI	Female		Fresh	10	57	0 570	0	0 1552	155	
1372835	DIRDHO BUDHRI	Female	B. Sc./Science/I		4 n. r						

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the scholarship form attached with certained copy of mark anect of passing last qualitying chain, date definition of called the angle institution or otherwise discontinues the studies or accepts candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution) शासकीय महे Mane (Capital gelis) ISHRI SURENDRA KUMAR SAHU

Place :

Date :



## tion Register for Scholarship

ment of Chhattisgarh



	matagam										
Sch	nolarship Scheme : Post Matr Category : ST Institute Name : Govt. Girl Academic Year : 2017 - 18	Is College Dante	F			,		State : Sanction Number : Sanction Date : Applications Type :	N/7/15 23/01/	/2018	tisgarh
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other	Fee		Total Amount
1362433	3 SWATI VASAM	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1552	1552	725
	3 VISHAKHA NEGI	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1552	1552	725
	2 SARITA MANDAVI	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1552	1552	725
	1 VETTI MONA	Female	B, Sc./Science/I	Fresh	10	570	5700	0	1552	1552	725
	7 POONAM MOURYA	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1552	1552	72
	2 HEMLA SARITA	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1552	1552	72
	and an end of the second	Female	B. Sc./Science/I	Fresh	10	570	5700	) 0	1552	1552	
	9 JAMUNA KUNJAM	Female	B. Sc./Science/I	Fresh	10	570	5700	) 0	1552	1552	
	O SOYAM KAREENA	Female	B. Sc./Science/I	Fresh	10	570	0 5700	0 0	1552	1552	
	7 PUNEM RAJNI	Female	B. A./Arts/I	Fresh	10	30	0 300	0 0	1537		
	1 LAXMI MARKAM		B. A./Arts/I	Fresh	10	30	0 300	0 0	1537	and the second sec	
	3 LAXMI BHASKAR	Female	B. A./Arts/I B. A./Arts/I	Fresh	10	30	0 300	0 0	1537	1537	
	2 ANITA NETAM	Female		Fresh	10	30	0 300	0 0	1537	153	
136557	3 SUNITA BHAWANI	Female	B. A./Arts/I	Fresh	10	30	0 300	0 0	1537	153	
137260	2 ANJU MARKAM	Female	B. A./Arts/I	Fresh	10	30	300	0 0	1537	153	
140474	44 AARTI SODI SODI	Female	B. A./Arts/I	Fresh	10	57	0 570	0 0	1537	153	7 7
	and the second	Fomale	B A /Arts/I	riesn	10						- 7

1375531 SARITA SORI

1347239 RADHA TAMO

1364139 URMILA RANA

アリなん

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period if is the tected.

Fresh

Fresh

Place :

NIC

Date :

B. A./Arts/I

B. A./Arts/I

B. A./Arts/I

Female

Female

Female

(Signature & Seal of Head of the Institution) TE HE-Name (Gapital Leters) SHRI SURENDRA KUMAR SAHU

1537

1537

7237

7237

### (दक्षिण बस्तर) छ.ग.

0

0

5700

5700

570

570

10

10

This Sanction is generated by Scholarship Portal. Printed on 2/5/2018

1537

1537

### on Register for Scholarship

ment of Chhattisgarh

State : Government of Chhattisgarh

N/7/1539/2/7/81484

Scholarship Scheme : Post Matric ST Scholarship

Category : ST

Institute Name : Govt. Girls College Dantewada

Academic Year : 2017 - 18

Ą	plication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
7	1363868 MA	IHENAM UCH	Female	B. A./Arts/I	Fresh	10	570	5700	0	1537	1537	7237
8	1374201 VA	SHA KUHRAMI	Female	B. A./Arts/I	Fresh	10	570	5700	0	1537	1537	7237
9	1362593 SAV	ITA BHOGAMI	Female	B. A./Arts/I	Fresh	10	570	5700	0	1537	1537	7237
Ó	1362201 PRA	TIBHA BHOGAMI	Female	B. A./Arts/I	Fresh	10	570	5700	0	1537	1537	723
1	1364159 YAL	AM SANDIYA	Female	B. A./Arts/I	Fresh	10	570	5700	0	1537	1537	723
2	1385336 MA	ULI VENJAM	Female	B. A./Arts/I	Fresh	10	570	5700	0	1537	1537	723
3	1404680 KU	NEHA POYAM	Female	B. A./Arts/I	Fresh	10	300	3000	0	1537	1537	
1	1387252 KUS	UM MANDAVI	Female	B. A./Arts/I	Fresh	10	300	3000	0	1537	1537	
-	1449329 par		Female	B. A./Arts/I	Fresh	10	300	3000	0	1537	1537	and have seen as the second se
5	1371216 KAN		Female	B. A./Arts/I	Fresh	10	570	5700	C	1537	1537	and and a second s
7	1393413 DAS		Female	B. A./Arts/I	Fresh	10	570	5700	C	1537	153	
8	1347165 AAR		Female	B. A./Arts/I	Fresh	10	570	5700	(	) 1537	153	
7		ITA MARKAM	Female	B. A./Arts/I	Fresh	10	570	5700	(	) 1537	153	7 72
		amti no sir name	Female	B. A./Arts/I	Fresh	10	570	5700	(	1537	153	
7	1426119 UR		Female	B. A./Arts/I	Fresh	10	570	5700	(	1537	153	7 72
2	1392298 PRA		Female	B. A./Arts/I	Fresh	10	570	5700		1512	151	2 72
12-			Female	B. A./Arts/I	Fresh	10	570	5700		) 1537	153	7 72
G V		ojani manjhi Ma mandavi	Female	B. A./Arts/I	Fresh	10	300	3000	(	1512	151	2 45

### **Declaration**:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period in a detected.

Place :

Date :

NIC



his Sanction is generated by Scholarship Portal. Printed on 2/5/2018

दन्तेवाड़ा (दक्षिण बरतर) छ.ग.

(Signature & Seal of Head of the Institution) THAT I NAME (Capital Leters) SHRT SURENDRA KUMAR SAHU



Sanction Number :

Sanction Date : 23/01/2018

Applications Type : Fresh



	rion Reg	j <b>ister for</b> : attisgarh	Scholars	hip								81484	
	Schola	arship Scheme	Post Matric	ST Scholarsh	ip						State : Gov	ernment of Chh	attisgarh
		Category	ST							Sanction Nu	umber : N/7/	1539/2/7/81484	
	1	Institute Name	Govt. Girls	College Dante	wada					Sanction	Date : 23/0	1/2018	
	А	cademic Year :	2017 - 18	-						Applications	Type: Free	sh	
Ap	pplication ID	Student	Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	the second s	Manager and		Female	M. A./Hindi/I	Fresh	12	820	9840	0	1627	1627	1146
_	155283 🚺	mua korram											
	155283 Ur						12	820	9840	0	1627	1627	1146
6	200200 An	mita Bhaskar		Female	M. A./Hindi/I	Fresh		820 820	9840 9840		1627 1627	1627 1627	
5 6 7 8	200200 An 904894 RA						12 12 12			0			114

### **Declaration**:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

(Signature & Seal of Head of the Institution)

किाण बरतर) छ.ग. This Sanction is generated by Scholarship Portal. Printed on 2/5/2018

Name (Capital Leters) SHRT SURENDRA KUMAR SAHU

Place :

NIE

Date :

Page 4/4

on Register for Scholarship		
Scholarship Scheme : Post Matric ST Scholarship   Category : ST   Institute Name : Govt. Girls College Dantewada   Academic Year : 2017 - 18	Sanction Number : Sanction Date : Applications Type :	02/02/2018 Fresh
Application ID Student Name Gender Course Type	No. of Rate Maintenence Tuition Fee Other F Month Allowance	Fee Total Fee Total Amount

Fresh

10

570

Total :

7252

7252

1552

1552

शालकीय महेन्भ्रेक्ला (Capital Leters) ESTIRI SURENDRA KUMAR SAHI)

This Sanction is generated by Scholarship Portal. Printed on 2/5/2018

का (हहिाज ब्रत्तर) छ.ग.

1552

1552

0

0

5700

5700

Dec	a	rat	in	n	٠
DEC			10		-

1461070 SULOCHANA NAG

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected. (Signature & Seal of Head of the Institution)

Place :

Date :

99

B. Sc./Science/I

Female

	on Register for Scholars	nip								83148	
	Scholarship Scheme : Post Matric	SC Scholars	nip							ernment of Chha 1539/1/9/83148	
1	Category : SC								Date: 02/0		
	Institute Name : Govt. Girls ( Academic Year : 2017 - 18	College Dante	ewada				-	Applications			
-	Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee		Total Amount
	1061067 MANTA NO NAME	Female	B. Sc./Science/II	Renewal	10	300	3000	0	1502	1502	4502

4502

1502

0

दन्तेवाड़ा (दक्षिण बस्तर) छ.ग.

This Sanction is generated by Scholarship Portal. Printed on 2/5/2018

3000

Total :

1502

01

1061967 MAMTA NO NAME

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant reares institution of from the period it is detected. ातिकीय महेभूवत्रमार्मि प्रतिक्रीत्रज्ञमिरा SUREN DRA KUMAR SAHU

Place : Date :

NIC

Page 1/1

B. Sc./Science/II

Female

	on Reg	ister for Scholar	ship								81747	
	Ir	rship Scheme : Post Matr Category : OBC Institute Name : Govt. Girl cademic Year : 2017 - 18	s College Dante						Sanction No Sanction	State: Gove umber: R/7/1 n Date: 23/0° s Type: Rene	539/3/10/8174 1/2018	
-	Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
	4370504 44	DITEE SAHU	Female	B. Sc./Science/II	Renewal	10	85	850	0	1502	1502	
2		emlata thakur	Female	B. Sc./Science/III	Renewal	10	85 Total :	850 1700	0	1502 3004	1502 3004	



